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SECTION A: Discovery centre
Answer all questions in this section.
Write your answers in the spaces provided,
1 Jo plans a day trip to a discovery centre for some children.

She works out how many adults she needs to look after the children.
Jo needs 1 adult for every 6 children.

There are 30 children going on the trip.

(@) How many adulits should go on the trip?

(2)
Use the box below to show clearly how you get your answer.
20 -,
|
Jo works out how much to charge each child for the trip.
The cost to hire the coach for the day is £375
The tickets to the discovery centre cost £4.30 for each child.
The adults go in free.
There are 30 children going on the trip.
Jo is going to charge £17 for each child.
(b) Is this enough to pay for the coach hire and the tickets?
3 J
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Use the box below to show clearly how you get your answer.
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oo (Total for Question 1 is 5 marks) |
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2 Jo makes notes about what they are going to do at the discovery centre.

- Arrive 17T am /
. J{ ave 4 pm v
how 1 pm ~ 1.30 pm
+ vLunch (30 minutes)
» tHands-on fun (1 hour 30 minutes)
« Nature trail (1 hour 30 minutes}
- Adventure park (1 hour}

Jo needs a time plan for the day.
It must show the start time and the finish time for each activity and the time for
lunch.

(a) Make a time plan for the day.
Remember to check your time plan. (3)

Write your time plan in the box below.
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Jo wants to know how hot it is likely to be on the day of the trip.

She finds the maximum temperature on the day of the trip for each of the last

2007 | 2008 | 2009 | 2010 | 2011

10 years.
'Yéar 2003 | 2004 | 2005 | 2006
Maximurﬁ | K

temperature (°C)

BET '21

23 |17

22 |25 |18 |23 lzz

e = T L ] s e

2012 |

@

Jo thinks it is likely to be more than 20°C on the day of the trip.

{b) Is Jo correct?

Explain why you think this.

Write your answer in the box below.
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Jo needs to record information about the children.
She wants to put information for 6 children on one sheet.

For each child she needs to record
 the child’s name

- a contact phone number

« any medical information.

Fc) Design a data collection sheet for 6 children,

(3) }
Use the box below for your data collection sheet.
- Megn  Wor

Chdgd | ]
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Chada & |

Cndd ©

.. [(Total for Question 2 is 7 marks)
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3 Glyn and Hakim go on the trip.
They see this sign in the gift shop.

|

|

Jumping Jacks
£2.90 each

Buy one get 2nd half price

Glyn and Hakim each have £2.50 to spend.

Glynsays .
l If we put our money together we can I'l
\ afford to buy 2 Jumping Jacks. /'
Is Glyn correct? '
Show why you think this. ()

Use the box below to show clearly how you get your answer.

(O ok how much money oy e
S;,écu/ :

(2) [k oat how muck moree ey le g

® lompe + arswe,,

@ 2SO0 x7 = '£'5‘

@ S Efn ts comed L Wﬁoscwj
| &M”%m.fari?

( - __{Total for Question 3 is 4 marks)
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SECTION B: Making candles
Answer all questions in this section.
Write your answers in the spaces provided.

4 Lena makes candles in containers.
She knows a rule to work out how much wax to use for each candle.

amount wax needed
container » divide by 10 > multiply by 9 g I s)
holds (ml) gram

Lena has a container that holds 200 ml.

ta) How many grams of wax should Lena use in this container? ]
(2)

Use the box below to show clearly how you get your answer.

e, [

60 210 x -

(\
!
5

| o
Lena has an order to make 25 candles.
She uses 15 ¢cm of candie wick to make each candie.

Lena has 3 metres of candle wick,

I {b) Does Lena have enough candle wick for 25 candles?
Show a check for your answer. {4}

8 000 O 0
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Use the box below to show clearly how you get and check your answer.
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_(Total for Question 4is 6 marks} _
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(5 Lena wants to choose a new container for candles.

ll The table shows information about some containers.

_'l-');;')-e-.of container Height (mm) Width (mm}
o A B 75 W/ 70
B 0 B
- C 90 ;6-
-l D 95 60
o E 80 &5/ |
o F . 50 _—Eg-m__

Lena wants a container with a
height less than 85 mm and a
width 75 mm or more.

!' — . e B bt R

L (a) Choose a suitable container for Lena.

Write your answer in the box below.

( Elec or C.

\

Lena also makes scented candles,

‘ The tabie below shows information about bottles of scents.

Scent name Small bottle Large bottle
_ _ - (50 ml) (1(_)_0 ml)
Vanilla | £8 £14
o, W _-‘__:._.,,_. -1—-—3-.—-:—-—-4‘—.—-‘ T T S Ay W B Tl b~ Tl L i sl 17 g ey
Lemon | £7 £12
] Ginger L f6 £11
I _ | . - e ]

| Lena needs to buy 300 ml of vanilla scent.
She also needs to buy some lemon scent and some ginger scent.
She wants to buy as much of the lemon and the ginger as she can afford.

Lena has a budget of £75 to spend on scents.

Gb) How many of each bottle of scent should Lena buy?

] What is the total cost? {35)
LI
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Use the box below to show clearly how you get your answer.

((D 200ml op Upmlla coobs |
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- ____(Total for Question 5 is 6 marks)
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6 Lena wants to expand her business.

The tabie shows her profits in each three month period of last year.

Profit

Three month period

Jan—Mér Apr - Jun Jul - Sep Oct - Dec

£2600 £2200 £1800 £2900

Lena wants a graph or chart to display this information for a meeting.

(a) Make a graph or chart for Lena.
(3)
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Lena wants to make a comment about her profits for the meeting.

[(b) Write a comment about the profits for Lena. J |
(1)

Write your comment in the box below,

ek (fon wonk ug tn ok~ Vo it <

__(Total for Question 6 is 4 marks)
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SECTION C: Five-a-side football
Answer all questions in this section.
Write your answers in the spaces provided.

7 Tomis a football coach.
He is going to organise a football tournament.

Here are the profits from the last 5 tournaments.
£360 £520 £465 £410 £420

Tom says
‘The mean average profit from the last 5 tournaments is £435'

(a} Has Tom worked out the mean average profit correctly?

Use the box below to show clearly how you get your answer.

260 +520 4 £6S 4 Wy +42 U
g

- _;Z___EZ_C; p— %%5‘
>

Yoo Tom Lhs worte d ond He woor
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The tournament is going to be played on the village green.
Tom has to work out where to put the football pitch @ WC/L MH“ S'ZQ
He makes a plan of the village green. o lLL 9..4;% s '7 i

e el e T Ty

buildings

[Key: 1 square on the plan is 5 m by 5 m on the village green.

- hedges
Ve S

The space for the football pitclyneeds to be
« arectangle 40 m by 20 m
- atleast 10 m from the hedges 2.
« atleast 10 m from the buildings. J

(b) Draw the football pitch on the plan.
Check that you have used the key correctly.

(3) J

P 4 2 4 4 8 A 0 1 5 2 0

___..(Total for Question 7 is 6 marks)____ __

15

7

Turn over -



If_,
|

e — e T R S e ———

cee, [~

E 8 Tom wants to work out what time the tournament is going to finish.

He knows

+ the tournament starts at 10.30 am
- there will be a total of 6 games

a4

new game starts every 50 minutes

+ he needs 15 minutes for the results at the end.

Tom thinks that the tournament will finish before 4 pm.

[ (@)

Is Tom correct?
Show why you think this.

Use the box below to show clearly how you get your answer.

16
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Tom has to make a list of the games the teams are going to play.
The 4 teams in the tournament are

Aces
Dragons
Griffins
Rovers

Each team plays one game against each other team.

[(b) Make a list of the games.

Write your list in the box below.

Ao A v €K
v

A
@vﬁﬂ ) x
cv & 2 7 X
'Q‘)‘A ighsex

Ly ¥V
kv &

ek o T el | bt A el M

N R

_.(Total for Question 8is 6 marks)
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9 On the day of the tournament Tom fills in the results table below.

Team Played i Won | Drawn Lost Goals | Goals ( Goal Points
name for | against differer!ce
Aces 3 1 0 5 4 1 3
Dragons 3 2 0 6 4 2 6
Griffins | 3 1 0 o | o 0 3
I Rovers 3 2 it 4 7 -3 6

— 1. - —_ — e A A A

Tom has to work out the teams in 1st, 2nd, 3rd and 4th places.

He knows that

» the team with the most points wins
+ iftwo teams have the same number of points, the team with the higher goal

difference is placed above.

L(a) Complete the team places table below.

18

Place Team name
1st ﬂr‘u
T 2
2nd Wpers
3rd APES -
4th ? i
7\#}«5
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' The company selling the refreshments gives Tom 25% of its profit.

The company makes £180 profit.

tb) How much money does the company give Tom?

Use the box below to show clearly how you get your answer.

=2 x
(0D --gﬁ::6
,J

TOTAL FOR PAPER IS 48 MARKS

O

(Total for Question 9 is 4 marks)

19




BLANK PAGE

A 3



